Potencias de 10 (H)

640, 1

290, 1

45-+0,1

880, 1

55-+-0,1

33+0,1

7420, 1

52+0,1

33+0,1

14+0,1

Calcule los siguientes cocientes.

22+0,1

360, 1

57+0,1

32:0,1

49+-0,1

16 0,1

44 +0,1

24 0,1

79-+0,1

15+0,1
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Potencias de 10 (H) Respuestas

64 0,1
640
29+0,1
290
45+0,1
450
88+0,1
880
55+0,1
550
33+0,1
330
740, 1
740
52-+0,1
520
33-0,1
330
14+-0,1
140

Calcule los siguientes cocientes.

22+0,1
220
36 -0,1
360
57+0,1
570
32+0,1
320
49=0,1
490
16 +0,1
160
44 =0,1
440
24+0,1
240
79+0,1
790
15+0,1
150
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